

Village of Kenmore

Building Department 2919 Delaware Ave Kenmore, NY 14217 PH: 716-873-5700 Fax: 716-873-0004

06/10/2024

Robert Urben, Jr. 66 Enola Ave. Kenmore, NY 14217

Re: 66 Enola Ave, Kenmore, New York 14217

To the owner, occupant, or person having charge of the above referenced property located within the Village of Kenmore:

Section 7 - 116: Hearing

NOTICE IS HEREBY GIVEN, that the building or structure or any part or parts thereof, have become vacant, abandoned, dilapidated, deteriorated, decayed, or unattractive from any cause, so as to endanger the health, safety, or welfare of the public, or which constitutes a fire hazard, or an attractive nuisance, on the above described property in the Village of Kenmore. This building or structure or any part or parts thereof must be repaired, demolished, or removed, within ten (10) days from the date of this notice, provided, however, that if this notice is served on you by publication, the said building or structure or any part or parts shall be repaired, demolished, or removed within twenty four (24) days from the first publication date of this notice. Any repair, demolition or removal shall be made in accordance with applicable laws, ordinances, rules and regulations

If such building or structure or any part or parts is not repaired, demolished, or removed on or before the expiration date of said ten (10) days for the date hereof, or on or before the expiration of the said twenty-four (24) days from the date of this notice, in the event it is served on you by publication, you are hereby summoned to appear before the Village of Kenmore Board of Trustees at 7:30 PM on the 6/18/2024, at 2919 Delaware Avenue, Council Chambers, Kenmore, New York, at which time a hearing will be held to determine why the Village of Kenmore, acting through its duly authorized agents, servant, officers and employees should not enter upon the said property and repair, demolish, or remove the building or structure or any part or parts.

If such building or structure or any part or parts is not repaired, demolished, or removed on or before the expiration date of said ten (10) days for the date hereof, or on or before the expiration of the said twenty-four (24) days from the date of this notice, in the event it is served on you by publication , you are hereby summoned to appear before the Village of Kenmore Board of Trustees at PM on the , at 2919 Delaware Avenue, Council Chambers, Kenmore, New York, at which time a hearing will be held to determine why the Village of Kenmore, acting through its duly authorized agents, servant, officers and employees should not enter upon the said property and repair, demolish, or remove the building or structure or any part or parts.

In the event the Village Board directs that said building or structure or any part or parts be repaired, demolished, or removed, the expense incurred by the Village of Kenmore shall be assessed against said property and shall constitute a lien thereof and be collected in the manner provided by law.

Michael D. Berns Building Inspector



Village of Kenmore

Building Department 2919 Delaware Ave Kenmore, NY 14217 PH: 716-873-5700 Fax: 716-873-0004

06/10/2024

Robert Urben, Jr. 66 Enola Ave. Kenmore, NY 14217

Re: 66 Enola Ave, Kenmore, New York 14217

To the owner, occupant, or person having charge of the above referenced property located within the Village of Kenmore:

KMC Sec. 14-20. - Notice to remove

NOTICE IS HEREBY GIVEN that an abandoned, junked, discarded or unlicensed motor vehicle is stored or deposited on the above described property in the Village of Kenmore. This vehicle must be removed therefrom within ten (10) days from the date of this notice, provided, however, that if this notice is served on you by publication, the said motor vehicle shall be removed within twenty-four (24) days from the first publication date of this notice.

If such motor vehicle is not removed on or before the expiration of said ten (10) days from the date hereof, or on or before the expiration of the said twenty-four (24) days from the date of this notice, in the event it is served on you by publication, you are hereby summoned to appear before the Village of Kenmore Village Board in Kenmore, New York at 7:30 PM on the 6/18/2024, at 2919 Delaware Avenue, Council Chambers, Kenmore, New York, at which time a hearing will be held to determine why the Village of Kenmore, New York, acting through its duly authorized agents, servants, officers and employees, should not enter upon the said property and remove and cause the said motor vehicle to be destroyed. In the event the Village Board directs that said motor vehicle be removed and destroyed, the expense incurred by the Village of Kenmore shall be assessed against said property and shall constitute a lien thereon and be collected in the manner provided by law.

Vehicle Description:

Michael D. Berns Building Inspector

CLIENT: Village of Kenmore

Sewer Shed No. 2 - Sanitary Sewer Corrective
Action Plan Improvements Project

BIDS OPENED: June 12, 2024 @ 11:00 AM

& CLARKE, INC.
ENGINEERS AND SURVEYORS

NUSSBAUMER PROJECT NO.: 0311-0083 BG 37

| \$583,880.00 | | \$494,248.00 | | | m | TOTAL AMOUNTOF BASE BID + ALTERNATE | |
|--------------------------------------|---|----------------------------------|--|-------|----------|--|---------------|
| \$48,200.00 | | \$26,840.00 | | | | TOTAL AMOUNT OF ALTERNATE BID | |
| \$26,000.00 | \$650.00 | \$7,040.00 | \$176.00 | EA | 40 | Manhole Frame Inserts | A2 |
| \$22,200.00 | \$3,700.00 | \$19,800.00 | \$3,300.00 | ΕA | 6 | Manhole Frame and Cover Replacement | A1 |
| | | | | | | | Alternate Bid |
| \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | rs | 1 | Contingency Allowance | 11 |
| \$50,000.00 | \$50,000.00 | \$15,000.00 | \$15,000.00 | ı | ₽ | Mobilization & Demobilization | 10 |
| \$3,300.00 | \$110.00 | \$3,000.00 | \$100.00 | ΥS | 30 | Asphalt Pavement Base Course (4") | 9D |
| \$2,700.00 | \$90.00 | \$2,310.00 | \$77.00 | SY | 30 | Asphalt Pavement Binder Course (2") | 90 |
| \$3,375.00 | \$75.00 | \$2,700.00 | \$60.00 | SY | 45 | Asphalt Pavement Top Course (1 1/2") | 98 |
| \$1,575.00 | \$35.00 | \$4,950.00 | \$110.00 | SY | 45 | Cold Milling and Removal | 9A |
| \$90,500.00 | \$9,050.00 | \$112,000.00 | \$11,200.00 | ĒΑ | 10 | PVC Sewer Spot Repair Sections | 00 |
| \$20,000.00 | \$1,000.00 | \$10,000.00 | \$500.00 | ΕA | 20 | Manhole Connection Sealing | 7D |
| \$7,500.00 | \$1,500.00 | \$7,500.00 | \$1,500.00 | ΕA | 5 | Manhole Bench Rebuild | 7 C |
| \$4,000.00 | \$1,000.00 | \$8,000.00 | \$2,000.00 | ΕA | 4 | Manhole Invert Liner | 7B |
| \$47,520.00 | \$330.00 | \$52,272.00 | \$363.00 | ۷F | 144 | Manhole Lining | 7A |
| \$8,700.00 | \$50.00 | \$174.00 | \$1.00 | ΕA | 174 | Lateral Openings | 6B |
| \$104,400.00 | \$600.00 | \$17,400.00 | \$100.00 | ΕA | 174 | Lateral Grouting | 6A |
| \$9,000.00 | \$4,500.00 | \$5,000.00 | \$2,500.00 | ΕA | 2 | CIPP Short or Parcial Liner | 5 |
| \$52,540.00 | \$37.00 | \$51,475.00 | \$36.25 | 두 | 1,420 | 12" Diameter CIPP Lining | 4C |
| \$44,800.00 | \$35.00 | \$37,120.00 | \$29.00 | F | 1,280 | 10" Diameter CIPP Lining | 4B |
| \$24,420.00 | \$33.00 | \$19,795.00 | \$26.75 | F | 740 | 8" Diameter CIPP Lining | 4A |
| \$4,260.00 | \$3.00 | \$1,420.00 | \$1.00 | 듀 | 1,420 | Warranty CCTV Inspection - 12" | 32 |
| \$3,840.00 | \$3.00 | \$1,280.00 | \$1.00 | ፍ | 1,280 | Warranty CCTV Inspection - 10" | 3 |
| \$2,220.00 | \$3.00 | \$740.00 | \$1.00 | 듀 | 740 | Warranty CCTV Inspection - 8" | 3G |
| \$2,840.00 | \$2.00 | \$12,212.00 | \$8.60 | 두 | 1,420 | Post-CIPP Lining - 12" | 37 |
| \$2,560.00 | \$2.00 | \$11,008.00 | \$8.60 | 듀 | 1,280 | Post-CIPP Lining - 10" | 3E |
| \$1,480.00 | \$2.00 | \$6,364.00 | \$8.60 | 듀 | 740 | Post-CIPP Lining - 8" | 3D |
| \$2,840.00 | \$2.00 | \$30,530.00 | \$21.50 | 듀 | 1,420 | In-Place CCTV Inspection - 12" | 3C |
| \$2,560.00 | \$2.00 | \$27,520.00 | \$21.50 | ⋤ | 1,280 | In-Place CCTV Inspection - 10" | 3B |
| \$1,480.00 | \$2.00 | \$15,910.00 | \$21.50 | 듀 | 740 | In-Place CCTV Inspection - 8" | 3A |
| \$5,600.00 | \$700.00 | \$8.00 | \$1.00 | Hrs. | œ | Heavy Sanitary Sewer Cleaning | 2 |
| \$9,230.00 | \$6.50 | \$710.00 | \$0.50 | 듀 | 1,420 | Light Sanitary Sewer Cleaning - 12" Diameter | 10 |
| \$8,000.00 | \$6.25 | \$640.00 | \$0.50 | 두 | 1,280 | Light Sanitary Sewer Cleaning - 10" Diameter | 1B |
| \$4,440.00 | \$6.00 | \$370.00 | \$0.50 | 듀 | 740 | Light Sanitary Sewer Cleaning - 8" Diameter | 1A |
| | | | | | | | Base Bid |
| 8id | Unit Price | Bid | Unit Price | STINU | QUANTITY | DESCRIPTION | NUMBER |
| Amount | | Amount | | | ITEM | ITEM | ITEM |
| way Avenue ge, OH 44146 -72850 | 25145 Broadway Avenue Oakwood Village, OH 44146 440-439-72850 | sil Street IA 02021 3-0863 | 25 Marshall Street Canton, MA 02021 781-828-0863 | | | | |
| RVEY, INC. | UNITED SURVEY, INC. | IAIN CLEANING CO. | NATIONAL WATER MAIN CLEANING CO. | | | | |
| | | | | | | | |



DEPARTMENT OF PUBLIC WORKS 2378 Elmwood Avenue, Kenmore, NY 14217

DAVID J. ROOT SUPERINTENDENT

Phone: (716) 875-0527 Fax: (716) 447-0256

JUNE 11, 2024

Mr. Mayor and fellow Board Members,

Mole

I am requesting permission to hire Carson Pryor as a seasonal laborer for the Department of Public Works with a start date of 6/19/24. Carson will work five-months as per Erie County and the DPW contract.

Thank You,

From: Kathleen Johnson

Sent: Thursday, June 13, 2024 12:03 PM

To:

Subject: FW: Block Party request

For agenda, please.

From: John Lougen

Sent: Wednesday, June 12, 2024 9:06 PM

To: Kathleen Johnson

Subject: Block Party request

Hi Kathleen,

We'd like to have a block party this summer. Please let me know if this date/time will be approved:

1. The date of the party: Sunday August 4th

2. The time of the party, start and approximate end time: 11AM-10PM

3. The location of the party (street name & cross street): Stillwell Ave. Between Burritt and Delaware Rd.

4. The phone number and address of the person making the request:

John Lougen

thanks,

John

Kathleen Johnson

From: Argonne Drive

Sent: Wednesday, June 12, 2024 2:57 PM

Kathleen Johnson

To:

Subject: 2024 Block Party Request

Dear Kenmore Village Board,

We are writing to request a block party.

Our contact people are: Sarah Gower / 417 Argonne Drive / (908)-600-0117

Dawn Sousa / 414 Argonne Drive / (585)-507-5425

We request to hold the block party on Saturday, September 14, 2024 with a rain date request of Sunday, September 15th.

We ask to close the road off between 12pm-10pm.

Our block is Argonne Drive between Colvin and Hiler (302 Argonne to 422 Argonne).

Please let us know if you require any additional information. We look forward to this wonderful community tradition!

Thank you so much,

Sarah Gower & Dawn Sousa